
División (J)
Calcule los cocientes siguientes.

0
284R183

957)271971
2840R183

286)812423
173R33

866)149851
1654R382

463)766184

4066R85
112)455477

797R472
842)671546

563R43
826)465081

586R785
886)519981

2710R196
343)929726

723R738
746)540096

386R104
802)309676

2108R65
213)449069

616R434
533)328762

3110R199
292)908319

1637R301
508)831897

2066R122
272)562074

1002R26
850)851726

1479R585
663)981162

4020R163
219)880543

603R75
766)461973

1826R339
500)913339

7393R76
125)924201

953R314
325)310039

179R862
882)158740

2144R300
340)729260

2308R159
354)817191

239R540
814)195086

1280R29
609)779549

748R59
208)155643

722R297
657)474651

362R242
788)285498

1496R177
549)821481
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División (J) Respuestas
Calcule los cocientes siguientes.

0
284R183

957)271971
2840R183

286)812423
173R33

866)149851
1654R382

463)766184

4066R85
112)455477

797R472
842)671546

563R43
826)465081

586R785
886)519981

2710R196
343)929726

723R738
746)540096

386R104
802)309676

2108R65
213)449069

616R434
533)328762

3110R199
292)908319

1637R301
508)831897

2066R122
272)562074

1002R26
850)851726

1479R585
663)981162

4020R163
219)880543

603R75
766)461973

1826R339
500)913339

7393R76
125)924201

953R314
325)310039

179R862
882)158740

2144R300
340)729260

2308R159
354)817191

239R540
814)195086

1280R29
609)779549

748R59
208)155643

722R297
657)474651

362R242
788)285498

1496R177
549)821481
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